MHCTPYKLMA MO CcOoOpKe mebean
Instructions for furniture assembling

KpoBaTh 6A30BOM KOMMAEKTALMM
C uapramm tmna 700

Bed in basic configuration side bars 700

Manufacturer «lLitwoody Ltd.

M3rotoButeab: OOO «AUTBYAN
E H [ Kposate cootsetcteyet TP TC 025/2012, FocT 19917-2014
The bed is in full compliance with GOST (Russian National Standart) 19917-2014

MHcTpykuma no cbopke mebean. Kposatb 6asoBom komnaektaumm. Bepcua Nel ot 19.06.2024. Aas uapr tmna: 700
Instructions for furniture assembling. Bed in basic configuration. Version Nel from 19.06.2024. For side bars types: 700



KOMMNAEKTOBOYHAS BEAOMOCTH KPOBATH

4 Ynakoska ApPTHUKYA HaumeHoBaHME KoAnvecTBO I
KO1 M3ronosbe 1
YnakoBka
Nel K03 M3HOXbE 1
Macnoprt ]
K02 Lapra 2
Ynakoska
Ne2 ObpaseL, TKaHu 1
(BLLMT B 4EXOA LLApT)
MHCTpYyKLMa no cbopke 1
CoeauHuTeAb 548
K179 HAPY>XHbIM 131*34 4
Ynakoska
Ne2 K178 CoeanHuTeAb 548
MakeT ¢ BHYyTPEHHMIM 130*33 4
cPypHUTYPOH Kp02 BUHT M6*20 16
K145 BuHT M8*50 10
OCHOBAHME C AOMEAIMM
P22 BA3A 1
yncﬁ(g;xc PP13 AOMEADb 2
PP11 AQTOAEPXATEADL 4
o J

Mepea c6opkoit:
1. Bce A€TAAU OCMOTPETb A0 COOPKM HO OTCYTCTBUE NOBPEXAEHUN. [TDETEH3MM MO HUM HA
COBPOHHOM M3AEAMM HE YAOBAETBOPSIOTCH M3rOTOBUTEAEM. YNAKOBKY HEODXOAMMO COXPAHSATL
AO OKOHYQOHWS COOPKM.
2. Npu BbIABA€HUM B NpoL,ecce c6opku 6paka U HEKOMMAEKTHOCTHU U3AEAUA HEOBXOAMMO
COXPUOHSATb YNAKOBKY AO MOMEHTA Bbi€3AA NPEACTABUTEAS TOProBOM KOMMAHUU. MHCTPYKLMKM MO
cOopke 1 IKCMAYATALMU U3AEAUT HEOOXOAMMO COXPOHSTb HO BECh MEPUOA DKCMAYATALMM.
3. MMpoBepbTe KOAUYECTBO AETAAEN U DYPHUTYPbI MO NEepeYHIo. [PeANPUITUE-U3TOTOBUTEADL
OCTABASET 30 COOOM MPABO BHOCUTb KOHCTPYKTUBHBIE M3MEHEHMS B USAEAME, 3AMEHSATL
DYPHUTYPY M METM3bI HO AHOAOTUYHBIE, HE YXYALLIGIOLLIME BHELLIHMM BUA U HE BAMAIOLLME HA
AQOYHKLLMOHOABHbIE CBOMCTBA M3AEAMS. [1DU HEAOKOMMAEKTE MAM MOAOMKE, OOBEANTE HOMEP
OTCYTCTBYIOLLLEM AETAAU U COOBLLIMTE B MATC3MH AAS €€ 3AMEHDI.
4. CobAloAaiTE NOPAAOK COOPKM, AGHHDbIA B 3TOW MHCTPYKLMUK! [ID1 HECOBAIOAEHMM MHCTPYKLLAM
no c6opKe 1 IKCMAYATALMM C KOMMNAHUU-TIDOU3BOAMTEAN CHUMOIOTCS TAPAHTUMHbBIE
0093aTEABCTBA.
5. AAS YCTAQHOBKM AMBAHQ/KPECAQ-KPOBATH/KPOBATHU BbIGUPAUTE POBHbIM y4ACTOK noAa!
MK UCKPUBAEHMAX MOAC BO3MOXKHbI OTKAOHEHMS B PABOTE MEXTHU3IMA TPAHCHOPAMALMM
AMBOHA/KPECAOQ-KPOBATU, MEPEKOCHI GOOPMbI U3AEAUS. HEXEATATEABHO HOAMYME KOBPA, TAK KOK
3TO 3ATPYAHAET TPAHCHDOPMALMIO.
6. MpoBoAUTE C6OPKY AMBAHA/KPECAA-KPOBATU/KPOBATU BABOEM.
MNepemelLante BCe AETAAM BepexHO, 6€3 PbIBKOB, YKAQABIBAMTE YCTOMUYMBO, M3BEramTe MX
NAAEHMIA 1 YAQPOB!
7. MepeaBurantTe mebeAb U ee AeTAAU, TOABKO CAETKA MPUMNOAHMMAS. DTO MO3BOAUT MCKAIOHUTD
AECPOPMALMM U MOAOMKM.

AAS COOPKM MOHOAODBITCA

C/@ KpecToBas otBepTKA

MHcTpykuma no cbopke mebean. Kposatb 6asoBom komnaektaumm. Bepcua Nel ot 19.06.2024. Aas uapr tmna: 700
2 Instructions for furniture assembling. Bed in basic configuration. Version Nel from 19.06.2024. For side bars types: 700

HOXXHMLLBI




Packing list for the bed
4 Package Part ltem Name Quantity N

KO1 Headboard 1
Package
Nel K03 Footboard 1

Instructions for use (certificate) 1

K02 Side bar 2

Package

Neo2 @ Fabric sample (sewed

in the cover for sidebars) 1

Assembly instructions 1

— Connector 548

Pack — KF179 external 131%34 4

mr:\logge —— KF178 Connector 548
Accessories e infernal 130*33 4
pack KFO2 Screw Mé6*20 16
@MM»»»W KF145 Screw M8*50 10
D R22 Base with slats Base 1

Package
Ne3® — | rA13 Slat 2
é?i RF11 Slat holder 4
- J

Prior to assembily:

1. Check all the parts for any damage before assembling. Any claim for them on assembled
article is not accepted by Manufacturer. Package shall be kept until the end of assembly
process.

2. When revedling any defect or incompleteness in the process of assembling, the package shall
be kept until arepresentive of frading company arrives. Assembly and operation Instructions shall
be kept during all the period of exploitation.

3. Check the parts and accessories quantity against the list. Manufacturer retains the right to
make structural changes into the article, change accessories and metalware for analogous that
do not affect design and do not influence on functional properties of the article. If
incompleteness or any damage, mark absent part number and inform the store o replace it.

4. Maintain the assembly order given in these instructions! If the Assembly and Operation
Instructions are not followed the manufacturer's warranty obligations are removed.

5. To install sofa/armchair-bed/bed a flat floor zone shall be chosen! If the floor are curved may
present deviations in the functioning of transformation mechanism of sofa/armchair-bed/bed,
distortions of the article form. Any carpet presence is undesirable, because it makes
fransformation process difficult.

6. Perform the sofa/armchair-bed/bed assembly by two. Move all the parts gently without any
jump, place them steady, escape their falls and hits!

7. Move furniture and their parts only slightly lifted. This will allow to exclude any deformation or
damage.

For assembling required

C‘/@ Cross-point screwdriver ){2 Scissors )

MHcTpykuma no cbopke mebean. Kposatb 6asoBom komnaektaumm. Bepcua Nel ot 19.06.2024. Aas uapr tmna: 700
Instructions for furniture assembling. Bed in basic configuration. Version Nel from 19.06.2024. For side bars types: 700 3




Mzo ® 3
AN )

KP02

BkpyTmTb!

o (x4 M20 x8 X1
N ) ]
2y
K179 K02

4

MHcTpykuma no cbopke mebean. Kposatb 6asoBom komnaektaumm. Bepcua Nel ot 19.06.2024. Aas uapr tmna: 700
Instructions for furniture assembling. Bed in basic configuration. Version Nel from 19.06.2024. For side bars types: 700




J
5

a: 700

AS LLAPT TUM!

M8x50

N

10
KP145
Bep Nel ot 19.06.2024. A
Nel from 19.06.2024. For side bars types: 700




Paspes3arb XOMyTbl, YAEPXMBAKOLLME
AOTMOAHUTEABHBIE AOMEAM. [TPOBEPUTH
HOAMYME MAKETA C AQTOAEPXKATEAIMM
Cut the clamps that hold additional slats.
Check the bag with slat holders )

~

<=
N —
BCTOBUTE AQMEAM B AQTOAEPXKATEAM/
Insert the slats into slat holders

B cAy4ae HeOBXOAMMOCTM OBPA3ELL MATEPUAAT MOXET ObiTb OTPE3AH
It necessary the material sample may be cut off

6

MHcTpykuma no cbopke mebean. Kposatb 6asoBom komnaektaumm. Bepcua Nel ot 19.06.2024. Aas uapr tmna: 700
Instructions for furniture assembling. Bed in basic configuration. Version Nel from 19.06.2024. For side bars types: 700



10

MHcTpykuma no cbopke mebean. Kposatb 6asoBom komnaektaumm. Bepcua Nel ot 19.06.2024. Aas uapr tmna: 700
Instructions for furniture assembling. Bed in basic configuration. Version Nel from 19.06.2024. For side bars types: 700

7







	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7
	Страница 8

